PRISEERE (4~98) i EINVERUREEF) SHI5E3A3A

pLEH 4A 58 6 A 78 8H 94
1 EET 8|1 1aEA/ (~9H) 1 1 161 BURAIERE
hyperQ—UQ) BHIR(TEE) QT
T B B |K|&k&mtk + X B |&
2 412 | REZER2 2 2 2 2
B B[k & | AL E R (T B %) B K T
3 RG] 3 3 3 3
A K + A X B
4 4|HEYDA 4 13[4 4 4 | NEE=605(~8H)
X A B| seoommam-~om || A | & B
5 5[c&tmBE 5 EEEY 5 17(5
7K % A Uk [SIEES |+ AlX|EES6ETHES)
6 6 9 (6> vEi2 6 6 6
H<h <A1 L3
A e —E%ESS 1400 | | A[X|EES3 7N =] KR —EiEE RS
7 7 7| REER2 7 7 T |BULEOEBHEF)
DV —iEE) LirLEHEMES
3 B K i A A
8 8 |4 A —FHHEGOOR 8 [LLrFTAEMNE2 8 8 8 [4FEHEHREE
NEE=60%(~12H) HR#R529:00
T A A + X i
9 5 [ 9 [ere1@uRaERD 9 [FT—ILiER 9 9 9
(21~4504~6E@5~6%F
B AlX|EES2 i B K T
10[{#rE R - s ERX DT 10 10 10 10 10
—FT#K11:40 REFBHQOT
| B [[BRR stk K —BEEE RS + B2EREHR6 A B
NMAZREROT 11|ELrREABMNE 11 14112~ 84 11|lLn B 11
N ChmAz=) X B B |X|EBR5 = A
12| AR 12 12| =24/ (~238) 12[rEe24. m1mpR LR 12 18[12]>+ 205
1B IRERR MFRE813:30 EES RS LY
Uk |[SINEES| | |rEE8L3 A k1 ~a%1430F i e B [k|y577 iR #4)
13[1£13:30F#% 13|PTASELEE 10 [13[&kgEL2(T—ILBZ) 13| BT DEB (1) 13 13| REERS
BEHTOIT . LOT LEALHHEMES
ARREZFEA1 T B |X|9574 A B 7k
14 14 14(ek %23 (RROBH#E) 14 14(2#:EAFF B 14[mrLBrA20206)1
14E13:30 F#
| |4 BB B i1 B KpphR—FiEEHs || |£ A A
15 15(ERDHE 15| L& DEB(1ER) 15 15|24 B 15
BEROA
T A K [ #EQEQHDE + X | | BdE T
16[773)—FvL>S7— | 6 [16 16 16[773)—FrLooT— 16 [2#BFAFF B 16
Bf#%813:30
B B [K|45T2 i B 7K +
17[1£13:30F#% 17|REER2 17 1708 17 17[773)—FvLooTF—
EJ=ESS 55t R OL D - 51 AMROT
B K + A X B
18|£E-L£5EF>F-NRT| [18 18[77su—FvLo>7—{|15(18 18 18[#EDE
14E13:30 F#
X|9571 A = A [Xk|95T5 £ R EURH ¥ Y18 A
19[REE S 19|%B(A- kB 19 19 19|PTASLEE 19(19|4%8(R- kBB
1EEE TR H<h a1 L2
7k £ EHREEHES B[2E&EHK5 7k T A [K
20BEZEHREQ 20 11(20|EBEE4L-5-65F 20[2% &S5 (EHhHEN 20773 )—FvLoOT— 20[BFEE2<VOB
®x 15:00—F Tk
7N T A [K 7N B 7k
21 21[77s)—FvLoST— 21[EBFE4-5-65F 21 21 21 [sEEME B EHRE
BESHO OX
& | the-Fame 5| K & |8 |pe—menmeacae | |A
22 22 22|TEAH¥E4-5-65F 22 22 22|11 ~5FHE
T |A [BEfE 7N + X i
23 7 |23[> w881 23 23 23 PRI XO)E]
B A K i B 7K +
24 24| EHRFITHEDAQ 24 24 |[fB A1 13:30~16:30 24 24
NS KIFARE + A X =]
3 [25|mEERED (2-54F) 25 25 25[@ABH2 13:30~16:30 25|58 B <3 (AT 25
REHM1 OX
X 7N =] X 3 A
26[1FEEF U2 52QR 26|%A(A- kBB 26 26[EAm#3 13:30~16:30 26 20|26(6 EREHBRERE
Hh LAKRRE OR EES#EGT
KlEBmammstEhgs | (& A |mess X + B |X
27|REEFHRE2 OX PYIEES ST 12[27]> %283 27 27 27|% B (FHEX) OOR
S HRE D~@TO®GOX PR R
RIRBERE—R(2FHF) + B |X|EER4 7 =] K| B i
28|REEFES OX 28 28| REER3 28 28 |2 K& S (Bik#BIT) 28 [mR/nik E RS
1-4EDERBOT h<h<{B1 L2 ®R 15:00—F Tk
£ |PTAEES B 7k 3 Al&ké&a 7N
29|REFID A 29[REK B GEBR) 29|1 -2 EERIRE 29 16 (29 29
GEFFHKET)
T B 7N T B |X|¥3576 i +E%&
30 8 (30 0[6EHEHRR 30 30 BhAERE| (3
93573
B B |k |Bmgr-—r@mun | | B ok |G| |+
31[#FE DT ARBE 31 31 BURAIERE
H << AL L1
7K A 7N




ARSEMELE (10~35) BB IFREEER) 2024 THOEIA/3A
& 108 18 128 18 28 3R
1 1 |ru%ks7 w#AR~308) 30| 1 [2BES (ANHE) 1|x8 38( 1 421 [iZ£3806 X
XA FE S E = P - -2EMR
B K B|&|kemik A B |K|&k& Atk B &
2 | BIEERE 2 2 |5—KABRIEKE 2 [2#:FAFF A 2 2
REMR
B 7N + X i T
21| 3 [REEENFENYQOR® 3 |xXitmH 3 R EZ 5 =] 3 [FE3EERLMH 3
ZEHRSOORX
A|K|ZEERT = = K + B
4 IXEEFHE 4 THESRES 4| AFEHA/M(~108) AEZE ] 4 4 AR A
H<h{BA L4 (R EEYTFYU—F)
K + A|EB8%9 X B A
5 5 THREREER 31[5 [HBGOX 5 |&FKE 5 [IREARBEFEEXREXRS) (43|5 [#HBA-KBHD)
(R EEYT7U—TF) —F T4 14:35 £RER12
A B A K |EAZREKA 3 A ALK
6 [ATHARER@T 6 EFEET] 6 396 6 [Z£45tL 8:30
—ETROX H<h{BA L5 <AL LT
i A 7k T A [k 7K
7 7 7 7 AEEEEIE 7
HEOR —F #1435 H<hH{BA L6
* PEI-ES:] ENIEPNER Y H 7k X
8 8 [&R&ER7 8 8 [RADA 8 FEEIGEEED)
—F TH#14:35 BEITVYRER
B 7k | |[{ELA 2B 343 A A i
9 |[RAR—yDHE 9 | BT DEB (i R) 9 35[ 9 [ergai0@haBNHOR 9 |[RRZER6 9 | EER
REMR FAEREER
A A T A (K £ [13:30~16:00 +
22|10 (#% HARA%A 10 10[ R NET— 10 KA E A~ 166) 10 10
B |
B (& & |EEES4 Z] X I |+ Z]
IRICES S 11 11 1| B OEEN IR 1 |gEE=nA 11 [> x4 57 o il (%R8)
95712 B8 —FHHEOOX
K + A A B A
12| R EXOT 12 32|12[>+wEA8 12 12[{REBK B 4412
—ETROX 3-4FEBEHEBRE)
A B B |X|#E 350@ 4266 i A B [K
13 agznemam~i7a[ |13 13| RE£LS 13 40]13 13
i B Kiheh—8 TR t B[XIZES11(BHRE) 7k
14 14|12 %87 14| B DEB (T 14 14| REE£R9 14|14%B8(A- KB
ZEXTFTORT
* X|95710 X =] 7k RIFPITRE
15[273)—FvLooTF— 15 15|5-6 25 E(RR) 15(KNERE(~17H) 15|LEARFmAHDES 15
#H 55Q® 656® NEE=60%(~19H,
B K i A 7N i
16| /\EE=60%(~208 16[LLARHEHBMNES 16 36(16 16 16
Alhe—miEEgs || |X S B |[X|E&%10 VS +
23[17[4%EZELQ (HH) 17 17[773)—FrLooF— 17| N #EE (3~6%) 17 17[773)—FrLooF—
CRTTAK(1-2%)
A |K|95T8 i B 7k T =|
18| HaAEG-64) 18|FE 2B 2R 6 184551 B EE 18|6 R ERIIZED 18773 —FrLoF— 186t TR BEFO T
HAXEZER2 REDOIT 4~6EGOR BPERHASOM 1-25OR 3~6FOR
K T IBRRBERAERLRQD A =] B
19[hmBERSTES 19[77s—FrLoST— 19 19 45 19| 2 EKXQBT
1~4EBR, 5-6EOR —ET#11:40
7N i B A [K
20 20| ABAIREBKE 20 41]|20(> 8810 20|&5 DR
i A K B B i el A XS T14BARE) 7K
21 21 21|PYRRRY 75— 21[77s)—FvLoST— 21 21
(LEBRFEHENES)
+ P A B Ik |8 25 A
22 22 22 22 22 22(ts T XOT
AERRRRE —F TF#12:00
B 7K i A/ —EEEHS KP=#% - BHEL-BEE i
23 23|gHREOB 23 37|23 v HH9 23|xXeHER 23
B X el A |XK|95T13 ol *
24(24|24% 8:30 24 24 24 24 24
B || EARE =P B b + B
25(REEL6 25 25[engso (2thamn O& 25(LErnFEABMNET 25 25
K| B =i el B X =] B
I CES i GIGED) 26 34126 (& =K% 26 26 26
RERZER7
7N B B X i A X
27|18 %47 (65F) 27 27 27 42274 8(A- kBB 27
i 1A [BEfE 7K T B |k 7K
28((HFHhIESR) 28 28| A 28 28 Z%#@E’éiié% 28 B#ER (F)
( ")
* X791 X =] 1K |88 <38 7N
29 20| (K5O 1T 29|% AT A 29 29 29
TEMAR
B 7K 3 AR 7N 3
0|LeAR 30[HYNESDELQR 30 38(30 30
A A EERES S + B |k T
25[31]> v Ef6 31 31 31
AL ERN(TE W ER)
B|X|9579 B K =]




